ERRATA

RASHI: Vol1(1): 2016 page 15-23

Article: P. Kundu and A.K. Nanda, Redundancy allocation in a system: a brief
review

page 15, Section 1, right hand side of the equation:Ri should be read as R;

page 16, right hand side of the first equation: right parenthesis ‘)’ should
be included.

page 16, equation (1.1): F.g,should be Fyq,
page 16, equation (1.2): F,a, should be Fygyand

ty Glawlx—tyl+t—x)

should be replaced by |,

J-ti G ((w—ty+)=t—x)
to  Glwlx—ty)) o Glalr—ty))

page 18, right hand side of the first equation:X,, _,.,.,, shouldbe X, _, ..,
page 18, second column:Z;, 4 should be Zz + 1

page 18, left hand sides of the last two equations:T;" and 75" should be
included respectively.

page 19, second column, equations in line 24 and line 33:==> should be
replaced by =

page 19, second column, line 29, (i):(t) = 0 should be A,(t) = 0

page 21, line 8:Ty,, should be Ty,

page 21, equation in line 20:T, . and T, should be Ty, _ and Ty, _ .
respectively.

References: second and third references: Boland, P.J.E. EI-Neweihi

should be P.J. Boland, E. EI-Neweihi



